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1 R e T = 9/18 TR (<2.8) | RERHK3.7) | A& H(<6.5)
2 % i — 9/18 AR H3.0) | AHBHE3.1D) | REHB.1)
3 1 i) T — 9/21 2.96 T # H(<3.3) 3.0

4 % ) — 9,/21 A (C2.T) | AH2.1) | A H(4.8)
5 & FHT — 9/19 R (2.3) | AHHK2.6) | A#H(<4.9)
6 & F T — 9/19 AR H(<3.2) | AHHES.0) | THH(<6.2)
7 A FHT — 9/21 FHHE2.6) | AEHK2.8) | A~ H(<5.4)
8 —_PFm - 9/21 FHREH(2.8) | AHEHK3.3) | FHH(<6.1)
9 Nl — 9/21 R HI(<3.2) | ABRHI(<2.9) | & H(<6.1)
10 b = 9/21 TR H(<2.5) | AHEHK2.6) | ARHKS.1)
11 — FHT - 9/21 R (<4.3) | RHBRH(C3.6) | AERH(T7.9)
12 — T = 9/21 TR 2.7 | AHRHEL.0) | FRHKE.7)
13 — FHT = 9/21 R (<4.2) | AHHEK3.8) | Fi#H(<8.0)
14 L = 9/21 TR (<2.9) | FRHEK2.8) | ARBHKS.T)
15 §% S Wy o= 9/21 FRHK3.2) | FRHEK2.7) | FHEHK5.9)
16 48 S BT s 9/21 THH(<3.5) | RBHK2.9) | T H(<6.4)
17 LF AT - 9/21 THRHE4D) | REHEKL D) | ABH(8.2)
18 LA — 9/21 R H(4.0) | AFEH(<3.8) | RERH(<7.8)
19 uPE A = 9/21 TR (<3.0) | AHERH(<2.8) | R HI(<5.8)
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